PMC COMMERCIAL TRUST /TX Form SC 13D/A October 07, 2013

UNITED STATES SECURITIES AND EXCHANGE COMMISSION Washington, D.C. 20549

SCHEDULE 13D

(Amendment No. 3)

Under the Securities Exchange Act of 1934

PMC Commercial Trust

(Name of Issuer)

Common Stock, par value \$.01

(Title of Class of Securities)

693434102

(CUSIP Number)

Hoak Public Equities, L.P.

3963 Maple Avenue, Suite 450

Dallas, Texas 75219

(214) 855-2284

(Name, Address and Telephone Number of Person Authorized to Receive Notices and Communications)

October 4, 2013

(Date of Event Which Requires Filing of this Statement)

If the filing person has previously filed a statement on Schedule 13G to report the acquisition which is the subject of this Schedule 13D, and is filing this schedule because of §§ 240.13d-1(e), 240.13d-1(f) or 240.13d-1(g), check the following box. o

1	Name of Reporting Person, I.R.S. Identification No. of Above Person (Entities Only)					
	Hoak Public Equities, L.P.	Hoak Public Equities, L.P.				
	(20-1356217)					
2	Check the Appropriate Box if a Member of a Group					
	(a) (b)		x 0			
3	SEC Use Only	SEC Use Only				
4	4 Source of Funds WC					
5	Check Box if Disclosure of	Check Box if Disclosure of Legal Proceedings Is Required Pursuant to Items 2(d) or 2(e) o				
6	Citizenship or Place of Organization Texas					
	7	Sole Voting Power 0				
Number of	0	Cl IV. D				
Shares Beneficially Owned by	8	Shared Voting Power 560,000 shares				
Each Reporting Person With	9	Sole Dispositive Power 0				
1 CISOH WITH	10	Shared Dispositive Power 560,000 shares				
11	Aggregate Amount Beneficially Owned by Each Reporting Person 560,000 shares					
12	Check Box if the Aggrega	Check Box if the Aggregate Amount in Row (11) Excludes Certain Shares x Percent of Class Represented by Amount in Row (11) 5.28%				
13						
14	Type of Reporting Person PN					
		2				

1		Name of Reporting Person, I.R.S. Identification No. of Above Person (Entities Only)						
		Hoak Income Opportunity Fund, L.P.						
		(45-2317672)						
2		Check the Appropriate Box if a Member of a Group (a) x						
		(b)	0					
3		SEC Use Only						
4		Source of Funds AF						
5		Check Box if Disclosure of Legal Proceedings Is Required Pursuant to Items 2(d) or 2(e) o						
6		Citizenship or Place of Organization Texas						
Number of	7		Sole Voting Power 0					
Shares Beneficially Owned by		8	Shared Voting Power 20,000 shares					
Each Reporting Person With		9	Sole Dispositive Power 0					
		10	Shared Dispositive Power 20,000 shares					
11		Aggregate Amount Beneficially Owned by Each Reporting Person 20,000 shares						
12	!	Check Box if the Aggregate Amount in Row (11) Excludes Certain Shares x						
13	;	Percent of Class Represented by Amount in Row (11) .19%						
14		Type of Reporting Person PN						

1	Name of Reporting Person, I.R.S. Identification No. of Above Person (Entities Only) Hoak Fund Management, L.P. (20-1355992)					
2	Check the Appropriate Box if a Member of a Group					
	(a)	X				
	(b)	0				
3	SEC Use Only					
4	Source of Funds AF					
5	Check Box if Disclosure of Legal Proceedings Is Required Pursuant to Items 2(d) or 2(e) o					
6	Citizenship or Place of Organization Texas					
	7	Sole Voting Power 0				
Number of Shares	8	Shared Voting Power				
Beneficially Owned by	Ü	580,000 shares				
Each	9	Sole Dispositive Power				
Reporting Person With		0				
Terson with	10	Shared Dispositive Power 580,000 shares				
11	Aggregate Amount Beneficially Owned by Each Reporting Person 580,000 shares					
12	Check Box if the Aggregate Amount in Row (11) Excludes Certain Shares x					
13	Percent of Class Represented by Amount in Row (11) 5.47% Type of Reporting Person PN					
14						

1	Name of Reporting Person, I.R.S. Identification No. of Above Person (Entities Only) Hoak & Co. (75-2574026)				
2	Check the Appropriate Box if a M	ember of a Group			
	(a) (b)	x o			
		· ·			
3	SEC Use Only Source of Funds AF				
4					
5	Check Box if Disclosure of Legal Proceedings Is Required Pursuant to Items 2(d) or 2(e) o				
6	Citizenship or Place of Organization Texas				
	7	Sole Voting Power 0			
Number of Shares	8	Shared Voting Power			
Beneficially	Ü	580,000 shares			
Owned by Each	9	Sole Dispositive Power			
Reporting Person With		0			
Person with	10	Shared Dispositive Power 580,000 shares			
11	Aggregate Amount Beneficially Owned by Each Reporting Person 580,000 shares				
12	Check Box if the Aggregate Amount in Row (11) Excludes Certain Shares x				
13	Percent of Class Represented by Amount in Row (11) 5.47%				
14	Type of Reporting Person CO				

1	Name of Reporting Person, I.R.S. Identification No. of Above Person (Entities Only) J. Hale Hoak				
2	Check the Appropriate Bo (a) (b)	propriate Box if a Member of a Group x o			
3	3 SEC Use Only				
4	Source of Funds AF				
5	Check Box if Disclosure of Legal Proceedings Is Required Pursuant to Items 2(d) or 2(e) o				
6	rganization				
	7	Sole Voting Power 0			
Number of Shares Beneficially Owned by	8	Shared Voting Power 580,000 shares			
Each Reporting Person With	9	Sole Dispositive Power 0			
reison with	10	Shared Dispositive Power 580,000 shares			
11	Aggregate Amount Beneficially Owned by Each Reporting Person 580,000 shares				
12	Check Box if the Aggregate Amount in Row (11) Excludes Certain Shares x				
13	Percent of Class Represented by Amount in Row (11) 5.47% Type of Reporting Person IN				
14					

1	Name of Reporting Person, I.R.S. Identification No. of Above Person (Entities Only) James M. Hoak				
2	Check the Appropriate Box if a M (a) (b)	Tember of a Group x o			
3	SEC Use Only				
4	Source of Funds AF Check Box if Disclosure of Legal Proceedings Is Required Pursuant to Items 2(d) or 2(e) o				
5					
6	Citizenship or Place of Organization Texas				
	7	Sole Voting Power 189,254 shares			
Number of Shares Beneficially Owned by	8	Shared Voting Power 769,254 shares			
Each Reporting Person With	9	Sole Dispositive Power 189,254 shares			
2 0.302.1	10	Shared Dispositive Power 769,254 shares			
11	Aggregate Amount Beneficially Owned by Each Reporting Person 769,254 shares				
12	Check Box if the Aggregate Amount in Row (11) Excludes Certain Shares o Percent of Class Represented by Amount in Row (11) 7.26% Type of Reporting Person IN				
13					
14					

Item 1. Security and Issuer.

This Schedule 13D relates to the common stock, \$0.01 par value per share (Common Stock), of PMC Commercial Trust (PMC), a Texas real estate investment trust (the Company), and amends the original filing on Schedule 13D of the filing persons dated April 12, 2013. Capitalized terms not otherwise defined herein shall have the respective meanings set forth in such original filing.

Item 4. Purpose of Transaction.

Hoak Public Equities (HPE), which collectively with our affiliates owns 769,254 shares of Common Stock representing approximately 7.26% of the outstanding Common Stock, intends to vote against the proposed transaction announced by PMC on July 8, 2013. On July 8, 2013, Hoak Public Equities (HPE) sent a letter to the Company s CEO, as the representative of the Board of Trust Managers, indicating its opposition merger agreement between PMC and CIM Urban REIT, LLC, announced by the Company on July 8, 2013. HPE s letter advised the Company that HPE will be likely be voting against the transaction in its current form and that, in HPE s opinion, the total consideration, as proposed, significantly undervalues PMC shares. HPE further advised of its belief that PMC and its shareholders would be better served by having the Company stay a stand-alone entity, run-off the existing portfolio, add new lines of business, and/or explore other merger or business combinations that result in a total consideration equal to, or in excess of, PMC s most recently stated book value of more than \$13/share. Following the letter HPE sent to the CEO of PMC, PMC filed its form S-4 with the SEC on August 30, 2013 detailing the contemplated transaction with CIM Urban REIT, LLC. After reviewing the document HPE has concluded its intent to vote against the transaction. HPE further intends to take all reasonable measures to protect its investment in PMC. HPE reserves its right to speak to other PMC shareholders or groups about making or participating in a competing proposal, to buy more shares, to sell some or all of its shares, or to take other actions consistent with its best interest as a holder of PMC shares.

Item 5. Interest in Securities of the Issuer.

- (a) As of October 4, 2013, the Reporting Persons as a group beneficially owned 769,254 shares of Common Stock, representing approximately 7.26% of the shares of Common Stock outstanding based upon the 10,596,220 shares of Common Stock reported by the Company to be outstanding as of August 2, 2013 in the Company s Quarterly Report on Form 10-Q for its quarterly period ended June 30, 2013 filed with the Securities and Exchange Commission on August 9, 2013.
- (b) J. Hale Hoak, together with HPE, HIOF, HFM, Hoak & Co. and James M. Hoak, has shared voting and dispositive power with respect to 580,000 shares of the Common Stock. James M. Hoak has the sole voting and dispositive power with respect to 189,254 shares of the Common Stock.
- (c) Schedule A annexed hereto lists all transactions in the Company s Common Stock in the last 60 days by the Reporting Persons.

Signature

After reasonable inquiry and to the best of my knowledge and belief, I certify that the information set forth in this Schedule 13D is true, complete and correct.

Hoak Public Equities, L.P.

By Hoak Fund Management, L.P. (its general partner)

By James M. Hoak & Co. (its general partner)

By: /s/ J. Hale Hoak J. Hale Hoak President

Hoak Income Opportunity Fund, L.P.

By Hoak Fund Management, L.P. (its general partner)

By James M. Hoak & Co. (its general partner)

By: /s/ J. Hale Hoak

J. Hale Hoak President

Hoak Fund Management, L.P.

By James M. Hoak & Co. (its general partner)

By: /s/ J. Hale Hoak

J. Hale Hoak President

James M. Hoak & Co.

By: /s/ J. Hale Hoak

J. Hale Hoak President

/s/ James M. Hoak

James M. Hoak (individually)

/s/ J. Hale Hoak

J. Hale Hoak (individually)

Dated: October 4, 2013

Schedule A

This schedule sets forth information with respect to each purchase and ale of Common Stock which was effectuated by a Reporting Person within the last 60 days. All transactions were effectuated in the open market through a broker.

		Number of Shares			
		Purchased	Price per		
Date		(Sold)	share	Aggregate Price (1)	Account
	8/7/2013	1,786	\$ 9.3000	\$ 16,609.80	HPE
	8/8/2013	600	\$ 9.3000	\$ 5,580.00	HPE
	8/9/2013	214	\$ 9.2760	\$ 1,985.06	HPE
	8/9/2013	774	\$ 9.1500	\$ 7,082.10	HPE
	8/19/2013	1,300	\$ 9.2000	\$ 11,960.00	HPE
	8/20/2013	5,761	\$ 9.1693	\$ 52,824.34	HPE
	8/20/2013	710	\$ 9.2000	\$ 6,532.00	HPE
	8/26/2013	2,000	\$ 9.1530	\$ 18,306.00	HPE
	8/27/2013	8,500	\$ 9.1265	\$ 77,575.25	HPE
	8/27/2013	500	\$ 9.1200	\$ 4,560.00	HPE
	8/28/2013	436	\$ 9.0500	\$ 3,945.80	HPE
	8/29/2013	431	\$ 9.1000	\$ 3,922.10	HPE
	8/30/2013	388	\$ 9.2274	\$ 3,580.23	HPE
	9/3/2013	19,370	\$ 9.0745	\$ 175,773.07	HPE
	9/10/2013	4,500	\$ 9.0000	\$ 40,500.00	HPE
	9/12/2013	830	\$ 9.0000	\$ 7,470.00	HPE
	9/12/2013	1,900	\$ 8.9976	\$ 17,095.44	James M Hoak, IRA
	9/13/2013	2,545	\$ 9.0000	\$ 22,905.00	James M Hoak, IRA
	9/16/2013	1,622	\$ 9.0000	\$ 14,598.00	James M Hoak, IRA
	9/17/2013	2,325	\$ 9.0000	\$ 20,925.00	James M Hoak, IRA
	9/18/2013	1,300	\$ 9.0000	\$ 11,700.00	James M Hoak, IRA
	9/19/2013	10,308	\$ 8.9937	\$ 92,707.06	James M Hoak, IRA
	9/27/2013	3,418	\$ 8.8000	\$ 30,078.40	James M Hoak, IRA
	9/30/2013	16,582	\$ 8.7978	\$ 145,885.12	James M Hoak, IRA
	10/3/2013	2,549	\$ 8.7500	\$ 22,303.75	James M Hoak, IRA
	10/4/2013	6,663	\$ 8.7500	\$ 58,301.25	James M Hoak, IRA

⁽¹⁾ Excludes commissions and other execution-related costs.